Math 102 – OLD TEST (Sections R.1 – R.6, 1.1-1.5, 2.1) 
Name ______________________________
Always show enough work to show how you arrived at your answer.  If work is not shown, you may not earn full credit for the problem.

1.
Evaluate the following numerical expressions.  Show your work.
(4 points each)

a.
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2.
The opposite of –3 is ________
(2 pts.)
3.
Convert the following into numerical expressions.
(2 points each)

a.
Twice the sum of 6 and 2.




_____________________________________


b.
The sum of twice six and 2.




_____________________________________

4.
A five-day rental company states that the cost for renting the car is $32 per day plus fifteen cents per mile for every mile over three hundred.  A customer returns the car after five days and the odometer indicates the car has been driven 478 miles.  Find the total cost of the rental.  


Write a numerical expression for the cost and then evaluate the numerical expression.
(4 points)
5.  
Convert the following into variable expressions.  
(2 points each)


a.
Three more than the product of four and the variable k  




_______________________________


b.
Two less than the quotient of the variable x and five 




_______________________________
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6.
Perform the indicated operations.  Write final answers in reduced form.  (Remember to SHOW STEPS)
(4 points each)


a. 
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b.
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7.
a.
How many terms are in the polynomial  
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?  ______
(2 points)

b.
Evaluate the polynomial when 
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.  Show your work.
(3 points)
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8.
a.
Plot the following points in the given grid.  ( –3 , –2 )  and (3, 1).
(8 points)

b.
Use the run and rise to find the distance between these two points.

9.
Find the area and perimeter of the region shown.  Assume the units are inches.
(5 points)
	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	




10.
Use the distributive rule to expand the product  
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(2 points)
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11.  
Simplify the polynomial 
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(4 points)
12.
Solve each equation. 


(6 points each)


a.
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13.
Use the formula 
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 for the following. 


a.
Convert 10 degrees Celsius into Fahrenheit.  
(4 points)


b.
Convert 86 degrees Fahrenheit into Celsius.  
(6 points)
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14.
Show that the following two polynomials are equivalent by making an input/output table using the integers –2, 0, and 2.  The polynomials are 
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(6 points)

15.   The formula for the area of a trapezoid is 
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, where a and b are the lengths of the top and bottom and h is the height.



(12 points)



a



h



b

a.
Find the area if 
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b.
Find the height if the area is 20 square inches, the top is 5 inches, and the bottom is 6 inches.


c.
Solve the formula 
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 for h.
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